Fort Bend County Tabulation Bid 17-085 Canal Paving in Meadows Place

Recommendation: Award to Division III+Constructors with permission to negotiate Funding: Drainage

Item No.	Description	QTY	UM	Division III+Constructors Stafford		RAC Industries Pasadena	
A							
1	Construction Signage Cost	3	EA	\$1,000.00	\$3,000.00	Disqualified for	
2	Clearing and Grubbing, Pumping out water and	1	LS	\$6,000.00	\$6,000.00	failure to provide	
3	Survey Tie Maps prepaeration	1	LS	\$1,500.00	\$1,500.00	references as	
4	Excavation of soil removal and hauling	1000	CY	\$30.00	\$30,000.00	required.	
5	Remove and Dispose of Existing Concrete including	85	CY	\$400.00	\$34,000.00		
6	Saw cutting of concrete and preparation of base	1	LS	\$4,000.00	\$4,000.00		
12	Filling and Compacting new stabilized soil	1224.54	CY	\$30.00	\$36,736.20		
13	Removing and re-installing the existing boundry property	30	LF	\$15.00	\$450.00		
14	Construction Safety Fence	200	LF	\$5.00	\$1,000.00		
15	Video Recording Construction	1	LS	\$2,500.00	\$2,500.00		
	Subtotal of Item A \$119,186.20						
В							
1	Concrete Work	133.46	CY	\$590.00	\$78,741.40		
2	Concrete Work- Miscellenous	10	CY	\$610.00	\$6,100.00		
3	Doweling into into stabilized fill	350	EA	\$40.00	\$14,000.00		
4	Premolded construction joints (Expansion joints)	506	LF	\$2.50	\$1,265.00		
5	Rebars and Reinforcement	9729.65	LBS	\$1.58	\$15,372.85		
6	Weep Holes (PVC pipe)	166.75	LF	\$10.00	\$1,667.50		
7	Filter fabric	8.63	SY	\$5.00	\$43.15		
8	Drain Gravel	2.13	CY	\$60.00	\$127.80		
Subtotal of Item B \$117,317.70							

C					
1	Sodding for Erosion Control (Various Widths)	400	SY	\$5.00	\$2,000.00
2	Hydro-Mulch Seeding	1	AC	\$2,000.00	\$2,000.00
3	Filter Fabric Fence (60% of unit cost for furnish and	500	LF	\$2.00	\$1,000.00
4	Inlet Protection Barrier (Stage 1, With Fiber Rolls; 60% of	0	LF	\$0.00	\$0.00
5	Stabilized Construction Access (Type 1-Rock; 60% of unit	2	EA	\$2,000.00	\$4,000.00
Subtotal of Item C \$9,000.00					
D					
1	Off-Duty Uniformed Peace Office - As Directed by	20	HR	\$25.00	\$500.00
2	Licensing and permitting cost for Contractor (if any)	1	LS	\$2,500.00	\$2,500.00
3	Additional Surcharge costs incurred during construction	1	LS		
4	Utility Protection and relocation	1	LS		
Subtotal of Item D \$3,000.00					

GRAND	D TOTAL: \$248,503.90

CERTIFICATE OF INTERESTED PARTIES

FORM 1295

					1 of 1			
	Complete Nos. 1 - 4 and 6 if there are interested parties. Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.	OFFICE USE ONLY CERTIFICATION OF FILING						
1	ame of business entity filing form, and the city, state and country of the business entity's place			Certificate Number: 2017-231451				
	of business. Division III + Constructors,Inc.							
00592	Stafford, TX United States	a contract for which the form is	Date Filed: 07/01/2017					
2	Name of governmental entity or state agency that is a party to the being filed.	ame of governmental entity or state agency that is a party to the contract for which the form is			Date Astronomical and			
	Fort Bend County	Date /			e Acknowledged:			
3	Provide the identification number used by the governmental entit description of the services, goods, or other property to be provide	ty or state agency to track or identify led under the contract.	the co	ontract, and prov	vide a			
	B17-085 Canal Paving in Meadows Place							
4				Nature of interest ess) (check applicable)				
4	Name of Interested Party	City, State, Country (place of busir	iess)	Controlling	Intermediary			
V	Volfley, Richard Stafford, TX United State			х				
r								
-								
r								
H								
F								
-								
5 Check only if there is NO Interested Party.								
1	6 AFFIDAVIT I swear, or affirm, under penalty of perjury, that the above disclosure is true and correct.							
	MARK RICHARDSON WOLFLEY Notary ID #129397838 My Commission Expires April 17, 2021							
١	Signature of authorized agent of contracting business entity							
	AFFIX NOTARY STAMP / SEAL ABOVE							
	Sworn to and subscribed before me, by the said Richard W.Wolfley , this the 3rd day of July ,							
	20_17, to certify which, witness my hand and seal of office.							
	Mark R. Wolfley Notary Signature of officer administering oath Printed name of officer administering oath Title of officer administering oath				ring oath			
	Signature of officer administering oath Printed name of				5			

	CERTIFICATE OF INTERESTED PART	TIES		FOR	м 1295			
				•	1 of 1			
	Complete Nos. 1 - 4 and 6 if there are interested parties. Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.			OFFICE USE ONLY CERTIFICATION OF FILING				
1	Name of business entity filing form, and the city, state and country of the business entity's place of business.			Certificate Number: 2017-231451				
	Division III + Constructors,Inc. Stafford, TX United States		e Filed:					
2	Name of governmental entity or state agency that is a party to the being filed.	e contract for which the form is		1/2017				
	Fort Bend County		Date Acknowledged: 07/18/2017					
3	Provide the identification number used by the governmental enti- description of the services, goods, or other property to be provided by the property to be provided by the governmental enti- B17-085 Canal Paving in Meadows Place		the c	ontract, and pro	vide a			
4					f interest			
ľ	Name of Interested Party	City, State, Country (place of busin	ess)		oplicable)			
W	/olfley, Richard	Stafford, TX United States		Controlling X	Intermediary			
	,							
_	····				<u> </u>			
	· · · · · · · · · · · · · · · · · · ·							
			•					
-								
l								
5	Check only if there is NO Interested Party.							
6	AFFIDAVIT I Swear, or	affirm, under penalty of perjury, that the	above	e disclosure is true	e and correct.			
	Signature of authorized agent of contracting business entity							
	AFFIX NOTARY STAMP / SEAL ABOVE							
	Sworn to and subscribed before me, by the said	, this the		day of	,			
	Signature of officer administering oath Printed name of o	officer administering oath 1	itle of	officer administeri	ing oath			
		war	01 (